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1 Question Description CHTATEr GHET: Sehed= T AT ST IT TETe Tl W4T eva= Sl ded 3182
A srfear ghre
B EECIREEE
c IR TS
D AT TES
E FUATr Frarar Arar
Correct Answer D

Marks 1



Question Description "STERTHT AT FEUNST el T% AT 37 FE 0TSl FeT T3 AlATET SATEAT RO hedl 3182

A HH

B T

c [EEEEIRY

D MEEGES

E TS Farar Arar
Correct Answer E

Marks 1

Question Description ST TS Tl ®aael” &7 FaUE SIS T ST Rluredr auare e 2
A g.9.1116-17

B 2.9.1210-11

Cc g.9. 1818-19

D 2.9.1011-12

E TS Farar Arar
Correct Answer A

Marks 1



Question Description T & ATRTROT A ToFaTer Tl 76 ol Fael 318 ?

A CIGECRIAS]

B ooy

c I T

D BRGE

E EREREIE IR
Correct Answer B

Marks 1

Question Description ST AT Ueh JE 97 AT U (e Sl 79 arearedr g =g uraie ?
A GEEIER]

B el AT

c Feremret areer

D SRESKIET)

E EREEEIE I IE
Correct Answer B

Marks 1



Question Description TR (9T AT AcHaTaTe THETH AT Telad el AT arelT=T SHTa 9T F9dr?

A areT

B aram

c T

D TS

: e A
Correct Answer C

Marks 1

Question Description AT FaTT9T HEToRT J=1 ATl Tiaell AXSl dEaT diuredr a9 fofaetr?
A £.9. 1986

B £.9. 1880

c £.9. 1886

D g.9. 1860

E AT TETEr Arar
Correct Answer C

Marks 1



Question Description HETad IqT W= FHE TR hiorar?

A fanraar aegey q e
B FHYRT G

c USRS

D ITYE qCTET

E AT Frarar Arar
Correct Answer B

Marks 1

Question Description TN T ATaT AT, ATar SeAlehe qTul ATSAT =41 MU= 38 A= AU AT FATFAT HIUCAT =21 Hiqaare Awd ?
A o W

B areAddr

c AT

E AT Frarar Arar
Correct Answer A

Marks 1



10 Question Description fa s WeaT =T AeET gy S9rg= f[ayg e Wy frar?

A AT B AT &
B Ararar
c AR HTTaTg
D AT g e
E AT FTEar Arar
Correct Answer B
Marks 1
11 Question Description ATV, THTITEAT, T a1 ST ITeaid lordr e 341%‘7

B AT

c FHEET

= 55

E AT FTaar Arar
Correct Answer B

Marks 1



12 Question Description FIUTCAT IS FAi FRIqeE IT TLET =T el AE 2

A ST
B TS
c aHT
D qdd
E TEATH Farar Arar
Correct Answer A
Marks 1

13 Question Description THT T HITATRT AT TRIIT A HE A=l SA1 & dariad J&aeh HoTedr [y=rvir Jaiad ma?
A FEH=AT AaS® Hiadl
B IR Aas® AfAd o
c IR AaSh Hogo e
D FFR=AT ATRTIT e
E T Farar Arar
Correct Answer C

Marks 1



14 Question Description ST GHTE TSR &Tval 9 T TG AT ReromeT o= 3rf Hgecar=n SHdr o7 HHTETAT i = orard ?

A TAATT G
B TEATErqHE
c g8 qure
D TELEY FATE
E T Farar Arar
Correct Answer B
Marks 1
15 Question Description SIS HATATeT T TIET=AT SeEhe ST AT ShIY FEUNST FToT ST FAT SATEAT FYUT IS ATTE cqITET R H0T?
A o Feefed
B G D
c T Ffes
D TSI 3 AT T
E T Frarar Arar
Correct Answer B

Marks 1



16 Question Description T[OT TS T HATFST AT Tl ARSI AT TR = @ A0 &l ?

A T & AT

B T FHCHT

c 7. . Z9IS

D T ST

E UL Farar ATar
Correct Answer C

Marks 1



17" Question Description AT 1870 T TG ST AT “SAE Agdl” T AT I8 T ATdel e GaTad T ard?

A . AT, THESIHT
B &, gATSI FaETfoa "Ereer
c F. fo. &, s
D F.L AT
E T Farar Arar
Correct Answer B
Marks 1

18 Question Description QST A faehd =T dheed =T v AT Sear?
A FEEI AT
B BICEEE
c EEIRRCED
D TS et
E T Frarar Arar
Correct Answer B

Marks 1



19 Question Description “FATOIT=2T 9T, AT AT &30 3T 07T HdH Faeo 318 ?

= T FETH AT
= HT T
c H Gradr ATeA
D e T FTT
E AT FTETEr ATer
Correct Answer D
Marks 1
20 Question Description LA, -l fToTeT SRS ST 3“%—(_'-?
= SELEED
E SR LD
© SN ED
2 FUEI
E EREEEIE I
Correct Answer A

Marks 1



21 Question Description SFATFLTAT IS & AT 0 fZeT 2

A HITGTRT
B TASTAT
c A& T
D A
E AT FTETEr ATer
Correct Answer B
Marks 1
22 Question Description FRTAeAYaT §OT AT=AT HICAT FLAT HFATYd THAGT T ST e @ fer 7?2
A arsa
B AR
c TTH AR ST ar
D RIECES
: TR A T
Correct Answer A

Marks 1



23 Question Description AT [ShaT ETETTT-AT STl F FErdra ?

A [ERUEMEL
B [ERIEES
c AT
D e
: e A A
Correct Answer C
Marks 1
24 Question Description Wmaﬁ% IEEI—@'WT q%-q}@- [ @'ﬁ:ﬂ'mﬂﬁ'@'ﬂ@”’
A He THT
B H AHT
c Hq TR
2 T TR
E FECATHT FETET ATar
Correct Answer D

Marks 1



25 Question Description T[T & HATT ITHTETH q% AAR 8 AT 6 ATAT.” & 7 AT ATSo 3182

A W
B vad
C qrH-T
D HHE
E TEATH Farar Arar
Correct Answer C
Marks 1

26 Question Description TR FETURE . . 99 4T BHR S & A Sloredr [aYaraT S raria =ms?
A MR Jrareaaars
B NI REASI KT I
c AR TSTehT
D TR @TreIad T
E FAAdT Frarar Arar
Correct Answer D

Marks 1



27 Question Description SIS AT FIUTEAT TedTTETE HFe ST ?

A =T
B D
c ST
D S=AUE
E AT Farar Arar
Correct Answer D
Marks 1
28 Question Description S, 3T, F AT Arey 31 J TENrETaa T idr Sfor fdt & Seasraistr dvr ST s
A HE
B HHAAZT
c [EEEEIRE
D L3-8
E EMEEEIE I |
Correct Answer A

Marks 1



29 Question Description JelTdal R AR Haq TRATAAT T 378 ?

A EfeieagaT
B grareagaT
c wferuETr
D A SH AT
E TEATH Farar Arar
Correct Answer A
Marks 1
30 Question Description AR G AT FGET” AT FI AT AT dhed 3778 2
A ANT aTEHT
B T araw
c T M
D JET T
E TEAT Frarar Arar
Correct Answer C

Marks 1



LaN

31 Question Description HHHE iTaeel A T=ST fhal Aed?

A AlS
B &r
¢ G
D q~=
E TS Frarar Arar
Correct Answer C
Marks 1
32 Question Description HTEAT qFATE, TET TET AHE FTET AR [T AT & %7 A1 ST #r fofgear sea?
A GEESEIEIES
B FrgumETs Iradr
c R da
D EEGIR
E T Farar Arar
Correct Answer B

Marks 1



33

34

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

AT I AT wdl= JOr AT w2
AT AT ]
FaEuT =ZEs @ HEaT

framr o faee

= A dd delAadT

EREREIE I IE



35 Question Description HT F?° & T AN (ATGA SATeHTET HOMT A8 2

A A qAAE wEar
B . T HarehT
c USRI CRY
D P T stivTer
: e A A
Correct Answer C
Marks 1

36 Question Description %-qﬁ-qgm:;r’ g—f%l- FT. H s I ST T TR BTI%‘?
. HSHA
= R
c NS eI
g [EEEEREIC]
; afrert FaE
Correct Answer D

Marks 1



37 Question Description

38

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

TTATATHR VAT FAATE FHATUST =T ATar?

AR

FERTSETAT I e W= A1 T4 o ror?
T 7. IETEar

oF. &, ey

ST . GBS,

fa. ar. e
AT Farar Arar



39 Question Description AITHIHIT AT HIUTAT Iox T 378 2

40" Question Description T A I G =T FHaT AT W =AT Jca( 9% TS ZThuIT SH =T gl i Jrser?

A EIEA M ED

B AT

c ElLE Iy

D ELE 1T

E AT FTEar Arar
Correct Answer C

Marks 1

A SR

B HFTEIA

c ENEEED

D e

E AT Frarar Arar
Correct Answer D

Marks 1



41" Question Description HERHTAT *qaeh” & AATET. HIVCAT (=TT Hafad e

A AT ®
B S HIED
c EELCCIERDICRIIIE
D KIEICES
E FEAA T FErar Arar
Correct Answer C
Marks 1

42 Question Description WY g TRUreT ATYOr 2A7Tor AT Ve sqaer FguTst \TNT 3191 ©7S U il dhear?
A UICCRS
B a7
c =
D A fqeae st
E UL Farar ATar
Correct Answer B

Marks 1



43

Question Description FTATA o AT A ATfg e AT=4T AT ST ST,
H-FAT. HUE | I TS

- U2 i TEeAR TUTgEr
3.-aTaT GEHeAS il TUAH
§ -ATyATYT iv Frerelt R

v FIET
A 3T-v AT-iv - ii F-iii
B ST-iv AT-iii - 1 §-ii
c - AT-1T-vE-iv
D I-iii 3T-v T-iv §- i
E AT Farar Arar
Correct Answer B

Marks 1



44 Question Description ST AR cATET AT Fod S FEIg T §% ardr ?

A g9.1110
B T.9. 1560
c 9. 1818
D g.9. 1960
E FEAT FTarar ATar
Correct Answer C
Marks 1

45 Question Description T T AT s AHTAT 316 AT A0 ATSo?
A FIRE T FHE0HT
B e
c foter srfaese
D HIAT. ATebe
E FUATHT Farar Arar
Correct Answer E

Marks 1



[aNEaN

46 Question Description HOSTAreT dloredr JEqarel qfEer IS JLERT fesrar arar?

A fawmar
B AL 1A
c DRI
D AT
E TSI Frarar ATar
Correct Answer C
Marks 1
47 Question Description TG HERHTE TT=AT ST = & 0 & ?
A EELCES
B e E
c ANTEENEET
D HIEE LY
E TEATT Farar Arar
Correct Answer D

Marks 1



48 . L S .
Question Description Hos i@ AT AaTaeh AT=AT AT FSHT AT
9

H. AFHYU Ieid ¥ TaaR (AT Foof) --i e deaT
. ALHIRIG TRHTE (HE'JTUT)‘ ii AT T B

3. LT AR () - iii wiftes g MArer
§. Yoo AR (3 & AIE) - v o a@
v. Oe fEwed
A T-ivearvIigii
B ;iATV T S i
c A veariTiid iii
D o iii AT iV T v i
e T FAAT A
Correct Answer E

Marks 1



49 Question Description ATYTTEAT=AT T AT  aredl Jr=aTd (99T Fldh A9l dides AT, TSl diehiad auiHe T [Qiarse ardiarT

TN AT YT &l
A U &4l ared aUaY AR
B FI Tieed ATFT TAL AR AT TH. T A8
c T et AT Jo ATe AT g6y Ay =
D J &Tvar arFr 9 R d.
E AT FErar ATer
Correct Answer A

Marks 1



50 Question Description AT ST T AHTITETHT WSTT 216 FUTCAT T SE 9] Faed 382

A qifeer

B T

c e qq T

0 et

: e
Correct Answer B

Marks 1



51 Comprehension

Question Description

Correct Answer

Marks

Read the passage below and answer the questions:

In the time of Charles the Fifth, Emperor of Germany, Stoeffler, a noted mathematician, and astronomer, a man of great
learning, made an astronomical calculation according to the great science of Astrology, and ascertained that the world
was to be visited by another deluge. This prediction was absolutely believed by the leading men of the Empire not only,
but all of Europe...Thousands of people left their homes in low lands, by the rivers, and near the sea, and sought the
more elevated ground. People in some instances abandoned the aged, the sick, and the infirm to the tender mercies of
the expected flood, so anxious were they to reach some place of security.

In the above passage, the phrase “another deluge” indicates that there had been one more------ in the past

calculation
prediction
flood
astronomer

None of the above

C
1



52 Comprehension

Question Description

A

Correct Answer

Marks

Read the passage below and answer the questions:

In the time of Charles the Fifth, Emperor of Germany, Stoeffler, a noted mathematician, and astronomer, a man of great
learning, made an astronomical calculation according to the great science of Astrology, and ascertained that the world
was to be visited by another deluge. This prediction was absolutely believed by the leading men of the Empire not only,
but all of Europe...Thousands of people left their homes in low lands, by the rivers, and near the sea, and sought the
more elevated ground. People in some instances abandoned the aged, the sick, and the infirm to the tender mercies of
the expected flood, so anxious were they to reach some place of security.

As per the implicit sense of the passage, the drawback of the prediction was that

it made people abandon the aged, the sick and the infirm to the expected flood

its astronomical calculation was based on the great science of Astrology

it was absolutely believed by not just leading personages but all of Europe

the people were anxious to reach some place of security

None of the above



53 Comprehension

Question Description

Correct Answer

Marks

Read the passage below and answer the questions:

In the time of Charles the Fifth, Emperor of Germany, Stoeffler, a noted mathematician, and astronomer, a man of great
learning, made an astronomical calculation according to the great science of Astrology, and ascertained that the world
was to be visited by another deluge. This prediction was absolutely believed by the leading men of the Empire not only,
but all of Europe...Thousands of people left their homes in low lands, by the rivers, and near the sea, and sought the
more elevated ground. People in some instances abandoned the aged, the sick, and the infirm to the tender mercies of
the expected flood, so anxious were they to reach some place of security.

The “Emperor of Germany “ mentioned in the passage was ----

Stoeffler

a noted mathematician
astronomer

Charles the Fifth

None of the above



54 Comprehension

Question Description

A

Correct Answer

Marks

Read the passage below and answer the questions:

In the time of Charles the Fifth, Emperor of Germany, Stoeffler, a noted mathematician, and astronomer, a man of great
learning, made an astronomical calculation according to the great science of Astrology, and ascertained that the world
was to be visited by another deluge. This prediction was absolutely believed by the leading men of the Empire not only,
but all of Europe...Thousands of people left their homes in low lands, by the rivers, and near the sea, and sought the
more elevated ground. People in some instances abandoned the aged, the sick, and the infirm to the tender mercies of
the expected flood, so anxious were they to reach some place of security.

The antonym of “elevated” as used in the passage is -------

raised

undignified
demoted
low

None of the above



55 Comprehension

Question Description

A

Correct Answer

Marks

Read the passage below and answer the questions:

In the time of Charles the Fifth, Emperor of Germany, Stoeffler, a noted mathematician, and astronomer, a man of great
learning, made an astronomical calculation according to the great science of Astrology, and ascertained that the world
was to be visited by another deluge. This prediction was absolutely believed by the leading men of the Empire not only,
but all of Europe...Thousands of people left their homes in low lands, by the rivers, and near the sea, and sought the
more elevated ground. People in some instances abandoned the aged, the sick, and the infirm to the tender mercies of
the expected flood, so anxious were they to reach some place of security.

As per the passage, the reaction of the people to the prediction shows that they were scientifically

ill-informed but concerned for their own survival

well-informed and so anxious for their own survival

uninformed to forsake those who were aged, ill or weak

ill-informed and unaware of the impending peril

None of the above

A
1



56 Question Description Which martial art has been added to the 37th National Games 20237

A Gatka

B Silambam

c Kalarippayattu

D Thoda

E None of the above
Correct Answer A

Marks 1



57 Question Description Which state has become the first in India to enforce the 'right to walk'?

A Sikkim

B Mizoram

c Kerala

D Punjab

E None of the above
Correct Answer D

Marks 1



58 Question Description When is International Nurses Day 2023 being observed?

A May 11
B May 12
c May 13
D May 15
E None of the above
Correct Answer B
Marks 1
59 Question Description In which state is Burachapori wildlife sanctuary situated?
A Assam
B Sikkim
c Odisha
D Jharkhand
E None of the above
Correct Answer A

Marks 1



60 Question Description

61

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Which airport has been recognized as the most punctual airport in the world by aviation analytics firm Cirium ?
Delhi Airport

Kochi Airport

Guwabhati Airport

Hyderabad Airport

None of the above

Between which two countries is the bilateral exercise 'Samudra Shakti-23' conducted?
India and Indonesia

India and Singapore

India and France

India and USA

None of the above

A
1



62 Question Description Recently Which Indian supercomputer secured the 75th position in the prestigious Top 500 Global Supercomputing

63

List?
A Prakhar
B PRATYUSH
c MIHIR
D AIRAWAT
E None of the above
Correct Answer D
Marks 1
Question Description The Reserve Bank of India has recently approved the merger of which two banks?
A Maratha Sahakari Bank & The Cosmos Co-operative Bank
B Maratha Sahakari Bank & The Bandhan Bank
c Maratha Sahakari Bank & The Saraswat Co-operative Bank
D Maratha Sahakari Bank & The Bharat Co-operative Bank
E None of the above
Correct Answer A

Marks 1



64 Question Description When is World Telecommunication and Information Society Day celebrated?

A May 17
B May 16
c May 15
D May 12
E None of the above
Correct Answer A
Marks 1
65 Question Description At which IIT did Israel and India partner to establish a centre of water technology?
A [IT Madras
B [IT Kanpur
c [IT Mumbai
D [IT Delhi
E None of the above
Correct Answer A

Marks 1



66 Question Description

Findout the altern ative figure which contains figure (%) as its part.

SEEEE

A 1
B 2
Cc 3
D 4
E None of the above
Correct Answer B

Marks 1



67

68

Question Description

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

A alone can do a piece of work in 6 days and B alone in 8 days. A and B undertook to do it for Rs. 3200. With the help of C, they

completed the work in 3 days. How much is to be paid to C?
Rs. 375
Rs. 400
Rs. 600
Rs. 800

None of the above

How much does a watch lose per day, if its hands coincide every 64 minutes?
B .

32 T min.
5 .

36— min.
11

90 min

96 min

None of the above

A
1



69 Question Description The difference between a two-digit number and the number obtained by interchanging the positions of its digits is 36. What is the

difference between the two digits of that number?

A 3

B 4

Cc 9

D Cannot be determined
E None of the above
Correct Answer B

Marks 1



70 Question Description 0Odd man out
41, 43,47,53,61, 71,73, 81

A 61

B 71

(@ 73

D 81

E None of the above
Correct Answer D

Marks 1



71" Question Description Present ages of Sameer and Anand are in the ratio of 5 : 4 respectively. Three years hence, the ratio of their ages will become 11 : 9

respectively. What is Anand's present age in years?

A 24

B 27

c 40

D Cannot be determined
E None of the above
Correct Answer A

Marks 1



72 Question Description January 1, 2007 was Monday. What day of the week lies on Jan. 1, 2008?

A Monday

B Tuesday

c Wednesday

D Sunday

E None of the above
Correct Answer B

Marks 1



73 Question Description

The guestion given helow consists of a question followed by three staterments. You
hawe to study the question and the staterments and decide which of the statement(s)
isfare necessary to answer the guestion.

By selling an article what iz the profit percent gained?

—

(5% discount 15 given on list price.

I

=)

IE discount is not given, 20% profit is gained.

ITT. [The cost price of the articles 15 Bz 2000,

A Only I and IT

B Only II and III

c Only I and I

D All T, IT and IIT

E None of the above
Correct Answer A

Marks 1



74 Question Description A 270 metres long train running at the speed of 120 kmph crosses another train running in opposite direction at the speed of 80
kmph in 9 seconds. What is the length of the other train?

A 230 m
B 240 m
c 260 m
D 320 m
E None of the above
Correct Answer A
Marks 1
5 Question Description The largest 4 digit number exactly divisible by 88 is:
A 9944
B 9768
c 9988
D 8888
E None of the above
Correct Answer A

Marks 1
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